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““Pre-Algebra Ch. 8 Group Review

1) Angelica surveyed the ages of the people at the schoot play. She made a histogram as shown here,

~ a) How many people were at the play? b} Which of these stem and leaf plots would match the

histogram data? :
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%- 2} Cmate two versions of a question about the {dod served at your school, Write one question that is blased
and the other which is not bjased.
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oot 3) If you were to conduct a survey in your school asking students about time spent on homework per school
. nfght, prowde one examp!e that will yield bias results and another example that will yleld unbiased results.
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4} Lucy has been tralning for an upcom marathon. She has | th track of how many miles she runs every
day for the past three weeks: ;2 y{ bj ;?/f 1/(:[ 5,1 /8/ MZZ }@f ®/}8/22 1 Z}Q’Bﬂ@

) Construct a combihation histogn am and box-whiskei plot for this set of data Use intervals of width equal

to 3. Calculate the mean and show It on your diagram. , : =, Z
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h) What s the probability her coach choosgs a day from this list from the last three weeks with more them 13
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' c) Whtch measure of central tendency should Lucy repart to her coach if: she wanis to Impress him? Why?
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o, ;' 5} Solve each of the following angle problems for the glven unknown. Write an aquation and solve it for each,
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W . 6) Use the formula d =1 - ¢ to solve the following problem: On g car trip, Sofia traveled 305 miles in 5 houis,

. What was her rote of speed? i )
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7} Mr. Largé gave his waiter a 25% tip on a $81 bill. How much was the tip, and what was the total paid?
Tipe «25(5)
. = 20,05
Tip: -‘#(QO 25 . | Total= -MH(; il

Total Paia: # /0/' 25

T 8y Soive each percent problern by setting up a propottion equalion or wnimg a ohe-step equat[an then
NS ~solv4ng it showing all support work.

. a) 90_i‘s what pei‘cent of 3%7 b} . 250% of what number is 35?
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- 9) The price of one share of common stock of Widget.com rose from $1.75 to 55.25.
a) What s the percent increase? | %NUS* Find the price for one share of the stock if it
. v ose the same percent again (begmnmg at §5,25)7
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“ 10} Solve and graph each_inequaii{y: (
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11} Which is more: 40% of 200 or 60% of 1307 Prove it by showing mathematical evidence {in other -

., words..show your work).
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12) Solve each equation. Check your solutions.
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; & 13} Solve each propdrtion. Check your solution. -
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14) A four-foot post casts a five-foot shadow at the end of the day. AL the same time, a nearby tree casts a 40-
foot shadow. How tall do you think the tree is? Justify your answer by sketching the situation and writing a

propoition comparing “corresponding parts.”
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Calculations Here
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c) ~7(12 - 2f) + 4(8f —~ 19) <o) = ( 15w — 45) +~(1? + 32w)
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16) Construct each of the following: ‘ : | : \g% ”
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a) 47%angle 2 - b) 125%angle ¢) triangle with sides of fength 5 and 4 ? :
¢ : and a 45° angle hetween the two sides : i
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17) Classify each “pair of angles” as adjacent, vertical, complementary, or supplementary Write all that apply.
Then use a protractor and measure the angles in #4, writing each angle measure inside their respective angle.
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' e‘f) Solve gach of the following equations. Lheck at ieast cme 01 the saluiions
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18)° Wr;te an equation that would enable you o selve the fottowing probtem, then salve .
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Q) Solve for —«Zx + (zlx + 63} ~ B = =50+ 7) + 4%
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. 20) ‘Thé formula for simple interest is [ = Py, Find ¢ pri i -
_ h . imp rest is [ = Prt, Find the principal (P} if you earn $300 in interest ar '
s% {ryfor6 years, Then determfne. the total amount of money {principal + intereét} tlhatarate of
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21} Suppose S1000 is deposited in an account garning an unknowh annual interast vate. If the money fs Jeft
undisturbed and the balance of the account in[ten yearsfis $1800, what is the simple intevest rate? j
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22} When Aaron was 10 years old, he Inherited $10,000 from his grandmother. He had to choose hetween
investing the money into an account that would pay 6.67% simple Interest each year, and leaving the money o
that account for six years, or, he could choose anather account that pays only 6% but he cauld leave the .

" . money in that account for ten years. What would you advise Aaron to do? ‘ -
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- 23} Poor Albert! He Jast hiis job right after starting colfege and now he needs 85,000 fast to pay for fees. The |
|

bank will give him a one-year loan ai 6% interest rate, At the eng of the year, he must-pay back the loan and
all the interest, What wilf he be paying in one yeat's tme? Show your work. _
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